¥ O A& B &

SMEHE4A4A 1T HIZERHLIZR6 - R7TEE2 9 S5 =M KiFHE L THICRB T 28O EFITHW
HEAE 721345 GBS —RNOE B ICHOWTIEM TIZR < &%) 105V T, BRoOEMmFERO Lk
nEETD,

Pk, BMiAEOMEE LTARE2@BE/ER L, YEEHTZLAMTHIO L, £8 182H#EFT 5,

THI645 A27H

T Fir HEREMTHEESITE24F%1 5%

K4 SESCHABIT AN E
e Rt 7 B Ak Sy AL A D E F S T R
%A e

ZHE FEFT HEEJ O RTENE 1 8 7 F M

K4 Rt

REMG R il

-1 - ESR S 3iE S C e L 3



YN/

it

£

THFX Sy - AR - FRB - B B BRRAL K & BB A & W (GBS
JE R HERT
(45 Fn 6 4R %)
= 1 15, 294, 249
TR AR L
= 1 6, 319, 209
MiA-ZAEHT
= 1 6, 319, 209
AT & B BEE N #E30cmbl 160c
K AtE 500cm
AR (1)
ZN 10 4, 481 44, 810
AT & B BEEH #E60cml £90c
K AtE 500cm
EARE I (2)
ZN 40 8, 367 334, 680
AT & B BIEE N #E90cmPl 1120c
mA ASHE 500cm
EARE I (3)
ZN 2 11,732 23, 464
AT & B BEE S #E120emEl 1150
cmATH A8 500cm
AR (4)
ZN 2 23, 088 46, 176
AT & B BEEH #E30cmPl 160c
K AtE 500cm
EARE I (5)
ZN 5 5, 272 26, 360
AT & EAR BEEH #E60cmEl £90c
K AtE 500cm
AR (6)
ZN 30 9, 848 295, 440
AT & B BIEE N #E90cmPl F120c
mA ASHE 500cm
AR (7)
ZN 5 13, 800 69, 000
AT & B BEE S #E120emEL 1150
cmATH A8HE 500cm
AR (8)
ZN 5 23, 088 115, 440
AT & EAR BIEA ] #2E30emPl 60c
K AtE 500cm
AR (1)
ZN 4 3,824 15, 296
AT & EAR BIEA ] #E60cmEl 90c
K AtE 500cm
AR (2)
ZN 10 7, 046 70, 460
AT & B BIEA ] #E90cmPA 120c
mA ASHE 500cm
AR (3)
%N 10 9,778 97, 780

ERReoaii RNl R S




NAWA

it

£

THFX Sy - AR - FRB - B B BRRAL K & BB A i (GBS
AT & B BIEA ] #E120emEL 1150
emAw i 500cm
AR (4)
ZN 1 21, 247 21, 247
AT & B BIEA ] #2E30emPl 60c
K AtE 500cm
A% (5)
ZN 5 4, 499 22, 495
AT & B BIEA ] #E60cmEl 90c
K AtE 500cm
A% (6)
ZN 80 8, 289 663, 120
AT & B BEA ] #E90cmPA 120c
mA ASHE 500cm
AR (7)
ZN 30 11, 504 345, 120
AT & AR - FRBIE MEREE B
100cmPL _F200cmA i
HEA (1)
ZN 10 674. 6, 741
AT & AR - FRBIE MEREE B
200cmP)_E300cmA
A (2)
ZN 10 1,658 16, 580
AT & AR - FRBIE MEREE B
100cmPL _F200cmA i
HEA (3)
ZN 10 1, 950 19, 500
AT & AR - FRBIE MEREE B
200cmP)_E300cmA
HEA (4)
ZN 10 1, 950 19, 500
P E WAE ARAR HE100cm
A (1)
m2 2, 000 148. 297, 200
P E WAE AR HE150cm
A (D)
m2 2, 000 222. 445, 800
P E WAE ARAR HE100cm
A (2)
m2 3, 000 174. 524, 400
P E WAE AR HE150cm
A (2)
m2 3, 000 262. 786, 600
TRARBREL WA I 1000m2L b X5
BR 55 fok ML 47
1)
m2 10, 000 136. 1, 368, 000
RARBREL HEIAZ 1 1000m2L b X5
FEHE (28 K OVAS 38 f5)
2)
m2 4, 000 161 644, 000

ERReoaii RNl R S




Bl =%

THEX Sy« T - R - A5 B B B B G = A & H R (GBS
BRE T
= 1 5, 050, 500
JEFEBRE T
= 1 5, 050, 500
THERE (HEA) BRI OF $h2X)  FRBBA 1 4R
« AW /%y B — B (4m35%)
TEMEERE=17. SknlL T
m2 35, 000 144. 3 5, 050, 500
FEAE PR T,
= 1 1,051, 440
FEAEIEE T,
= 1 1,051, 440
FEAE AL PR e - 2, BRELSE
t 60 17,524 1, 051, 440
SRR T
= 1 1, 570, 060
SR AL RS T
= 1 1, 570, 060
i ESE GRIED
= 1 605, 121
IS
= 1 964, 939
% T
= 1 1, 303, 040
RIEE T
= 1 1, 303, 040
RFE AR B
= 1 1, 303, 040
[EEE AR
= 1 15, 294, 249

-3- ERReoaii RNl R S




Bl =%

THEX Sy« T - R - A5 B FTRBAL % B G = A & H R (GBS

B ST

= 1 2, 408, 689
HimEpE (FE L)

= 1 2, 408, 689
g

= 1 17,702, 938
BTk Xegiiv oy

= 1 9, 025, 795
R 5]

= 1 26, 728, 733
— R PR

= 1 5, 165, 158

= 1 806, 109
T HAlik

= 1 32, 700, 000
THE B 2 %8

= 1 3, 270, 000
TG

= 1 35, 970, 000

-4 - ERReoaii RNl R S




YN/

it

£

THFX Sy - AR - FRB - B B BRRAL K & BB A & W (GBS
JE R HERT
(5Fn 74 )
= 1 15, 294, 249
TR AR L
= 1 6, 319, 209
MiA-ZAEHT
= 1 6, 319, 209
AT & B BEE N #E30cmbl 160c
K AtE 500cm
AR (1)
ZN 10 4, 481 44, 810
AT & B BEEH #E60cml £90c
K AtE 500cm
EARE I (2)
ZN 40 8, 367 334, 680
AT & B BIEE N #E90cmPl 1120c
mA ASHE 500cm
EARE I (3)
ZN 2 11,732 23, 464
AT & B BEE S #E120emEl 1150
cmATH A8 500cm
AR (4)
ZN 2 23, 088 46, 176
AT & B BEEH #E30cmPl 160c
K AtE 500cm
EARE I (5)
ZN 5 5, 272 26, 360
AT & EAR BEEH #E60cmEl £90c
K AtE 500cm
AR (6)
ZN 30 9, 848 295, 440
AT & B BIEE N #E90cmPl F120c
mA ASHE 500cm
AR (7)
ZN 5 13, 800 69, 000
AT & B BEE S #E120emEL 1150
cmATH A8HE 500cm
AR (8)
ZN 5 23, 088 115, 440
AT & EAR BIEA ] #2E30emPl 60c
K AtE 500cm
AR (1)
ZN 4 3,824 15, 296
AT & EAR BIEA ] #E60cmEl 90c
K AtE 500cm
AR (2)
ZN 10 7, 046 70, 460
AT & B BIEA ] #E90cmPA 120c
mA ASHE 500cm
AR (3)
%N 10 9,778 97, 780

ERReoaii RNl R S




NAWA

it

£

THFX Sy - AR - FRB - B B BRRAL K & BB A i (GBS
AT & B BIEA ] #E120emEL 1150
emAw i 500cm
AR (4)
ZN 1 21, 247 21, 247
AT & B BIEA ] #2E30emPl 60c
K AtE 500cm
A% (5)
ZN 5 4, 499 22, 495
AT & B BIEA ] #E60cmEl 90c
K AtE 500cm
A% (6)
ZN 80 8, 289 663, 120
AT & B BEA ] #E90cmPA 120c
mA ASHE 500cm
AR (7)
ZN 30 11, 504 345, 120
AT & AR - FRBIE MEREE B
100cmPL _F200cmA i
HEA (1)
ZN 10 674. 6, 741
AT & AR - FRBIE MEREE B
200cmP)_E300cmA
A (2)
ZN 10 1,658 16, 580
AT & AR - FRBIE MEREE B
100cmPL _F200cmA i
HEA (3)
ZN 10 1, 950 19, 500
AT & AR - FRBIE MEREE B
200cmP)_E300cmA
HEA (4)
ZN 10 1, 950 19, 500
P E WAE ARAR HE100cm
A (1)
m2 2, 000 148. 297, 200
P E WAE AR HE150cm
A (D)
m2 2, 000 222. 445, 800
P E WAE ARAR HE100cm
A (2)
m2 3, 000 174. 524, 400
P E WAE AR HE150cm
A (2)
m2 3, 000 262. 786, 600
TRARBREL WA I 1000m2L b X5
BR 55 fok ML 47
1)
m2 10, 000 136. 1, 368, 000
RARBREL HEIAZ 1 1000m2L b X5
FEHE (28 K OVAS 38 f5)
2)
m2 4, 000 161 644, 000

ERReoaii RNl R S




Bl =%

THEX Sy« T - R - A5 B B B B G = A & H R (GBS
BRE T
= 1 5, 050, 500
JEFEBRE T
= 1 5, 050, 500
THERE (HEA) BRI OF $h2X)  FRBBA 1 4R
« AW /%y B — B (4m35%)
TEMEERE=17. SknlL T
m2 35, 000 144. 3 5, 050, 500
FEAE PR T,
= 1 1,051, 440
FEAEIEE T,
= 1 1,051, 440
FEAE AL PR e - 2, BRELSE
t 60 17,524 1, 051, 440
SRR T
= 1 1, 570, 060
SR AL RS T
= 1 1, 570, 060
i ESE GRIED
= 1 605, 121
IS
= 1 964, 939
% T
= 1 1, 303, 040
RIEE T
= 1 1, 303, 040
RFE AR B
= 1 1, 303, 040
[EEE AR
= 1 15, 294, 249

-3- ERReoaii RNl R S




Bl =%

THEX Sy« T - R - A5 B FTRBAL % B G = A & H R (GBS

B ST

= 1 2, 408, 689
HimEpE (FE L)

= 1 2, 408, 689
g

= 1 17,702, 938
BTk Xegiiv oy

= 1 9, 025, 795
R 5]

= 1 26, 728, 733
— R PR

= 1 5, 165, 158

= 1 806, 109
T HAlik

= 1 32, 700, 000
THE B 2 %8

= 1 3, 270, 000
TG

= 1 35, 970, 000

-4 - ERReoaii RNl R S




